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V. EURRERBR
(1) ZFNRK

(AERR30FEE)

( mL)
3 & Ei2) 0 0 0 0 0 0 0 0 0 0 0 0)
Anabaena  spp.
Phormidium Spp.
¥ B # 542 128 22 2 56 16 70 48 22 2 6 58
Achnanthes  spp. 76 10
Amphora spp. 2 2
Asterionella spp. 8 2 2 18
Aulacoseria spp.
Cocconeis spp. 14 4 2 6 2 2 8 2
Cyclotella spp. 22 20 4 2 2 2
Cymatopleura spp.
Cymbella spp. 102 24 6 6 2 12 8 4 4
Diatoma spp. 6 2
Fragilaria spp. 30 10
Gomphonema  spp. 28 6 2
Gyrosigma spp.
Melosira spp. 10 2 2 2
Meridion spp. 2
Navicula spp. 74 2 10 2 10 4 24 26 8 12
Nitzschia acicularis 6
Nitzschia spp. 142 52 2
Pinnularia spp. 2 8 2 26 6 4 2 12
Rhoicosphenia spp. 10 10 6 2 2 8
Rhopalodia spp. 2
Surirella spp. 4 2
Synedra acus 2
Synedra ulna 2
Synedra _spp. 4
% & E2) 8 0 0 0 2 2 2 2 0 0 4 2
Ankistrodesmus spp.
Chlamydomonas  spp.
Closterium spp. 2
Oocystis spp.
Scenedesmus  spp. 8 2 2
Sphaerocystis spp.
Staurastrum spp. 2
Tetraspora spp. 2
Pediastrum spp. 2
Others 2
H) T ERE 0 2 0 0 2 0 2 0 0 0 2 0)
| Cryptomonas spp. 2 2 2 2
1—YJ L+ EE 0 0 0 0 0 0 2 0 0 0 0 0
|Eug/ ena spp. 2 0
5 FE 8 0 2 0 2 0 0 2 0 0 0 0 0)
Dinobryon spp. 2
Uroglena spp. 2 2 0
i £ == 0 0 2 0 0 0 0 0 0 0 4 0)
BOR & 0 0 0 0 0 0 0 0 0 0 0 0
ES [ # 550 132 24 4 60 18 76 50 22 2 16 60
(2) ZaltEzX (ERS0FEE)
( mlL)
E & B 0 0 0 0 0 0 0 0 0 0 0 0
Anabaena  spp.
Oscillatoria spp.
I & 2] 4 1 1 0 0 0 0 0 0 0 0 0)
Asterionella spp.
Cocconeis spp.
Cyclotella spp. 2
Cymbella spp.
Diatoma spp.
Fragilaria spp.
Gomphonema  spp.
Melosira spp.
Navicula spp. 1 1
Nitzschia spp. 1 1
Pinnularia spp.
Rhoicosphenia spp.
Surirella spp.
F5d & E2) 0 0 0 0 0 0 0 0 0 0 0 0)
| Sphaerocystis spp.
TR 0 0 0 0 1 0 0 0 0 0 0 0
|Cryptomonas spp. 1
ES 0 # 4 1 1 0 1 0 0 0 0 0 0 0




